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Micoorganisms

Fermentable sugar

Time

vironmental factor
(temp. etc)



HE DIMSO ME JHsA

=dJ Stap.aureus Salrr.l. . Esch.coli SR ey SO
() typhimurium

0 3.9%104 3.6%104 5.2%104 2.0%10° 4.4%106

1 4.5%10% D.2%104 3.3%104 7.3%106 3.6%107

3 5.0<10 1.1%102 3.3x102 5.7%108 1.2%109

4 - - 3.9*%10 6.1%x108 1.5%109

5 - - - 5.6%108 1.4%109°




X 545 EH 0|4 =9 q
(T=/m)
=/d7|2t Staph Salm Esch R e
(&) aureus typhimurium coli
0 3.9x104 3.6x104 5.2x104 2.0x10° 4.4x106
1 4.5x104 2.2x104 3.3x104 7.3x106 3.6x107
3 5.0x10 1.1x102 3.3x104 5.7x108 1.2x109
4 = - 3.9x10 6.1x108 1.5x10°
5 - - - 5.6x108 1.4x109
(20, C)
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